

Ex 4.3

Q2 (i) $v = \frac{ds}{dt} = t^2 - 4t + 3$ (i)

(*) $acc = \frac{dv}{dt} = 2t - 4$

at $t = 5$ $2(5) - 4 = 6 \text{ m/sec}^2$

(ii) $s = \int (t^2 - 4t + 3) dt$
 $= \frac{t^3}{3} - \frac{4t^2}{2} + 3t + C$
 $= \frac{t^3}{3} - 2t^2 + 3t + C$

at $t = 3$ $s = 4$

$4 = \frac{(3)^3}{3} - 2(3)^2 + 3(3) + C$

$4 = 9 - 18 + 9 + C$

$4 = C$

$\therefore s = \frac{t^3}{3} - 2t^2 + 3t + 4$

(iii) displacement (s) when $t = 1$

$s = \frac{(1)^3}{3} - 2(1)^2 + 3(1) + 4$

$= \frac{16}{3} = 5\frac{1}{3} \text{ m}$

(iv) height at $t = 2.5$
 $s = \frac{(2.5)^3}{3} - 2(2.5)^2 + 3(2.5) + 4 = 3\frac{1}{6} \text{ m}$

s v a

Q4 $a = (2t-3) \text{ cm/sec}$

(i) $v = \int (2t-3) dt$
 $= \frac{2t^2}{2} - 3t + C$
 $= t^2 - 3t + C$

speed $(v) = 3 \text{ m/sec}$ at $t=0$.

$\Rightarrow 3 = (0)^2 - 3(0) + C \Rightarrow C = 3$

$\therefore v = t^2 - 3t + 3$

$s = \int (t^2 - 3t + 3) dt$
 $= \frac{t^3}{3} - \frac{3t^2}{2} + 3t + C$

$s = 2$ at $t=0$.

$\Rightarrow 2 = \frac{(0)^3}{3} - \frac{3(0)^2}{2} + 3(0) + C \Rightarrow C = 2$

$\therefore s = \frac{t^3}{3} - \frac{3t^2}{2} + 3t + 2$

(ii) v when $t=2$

$v = (2)^2 - 3(2) + 3$

$v = 4 - 6 + 3 = 1 \text{ m/sec}$

$s = \frac{(2)^3}{3} - \frac{3(2)^2}{2} + 3(2) + 2$

$= \frac{8}{3} - \frac{12}{2} + 6 + 2 = \frac{14}{3} = 4\frac{2}{3} \text{ m}$

Q5

initial. $v = 25 \text{ m/s}$ \rightarrow $A = -10 \text{ m/sec}^2$

$$(i) \quad v = \int \text{Accel}$$

$$= \int -10 dt.$$

$$= -10t + C.$$

$$(i) \quad v = 25 \text{ at } t = 0 = t$$

$$25 = -10(0) + C$$

$$C = 25$$

$$\therefore v = -10t + 25$$

$$(ii) \quad \text{height}(s) = \int v.$$

$$= \int (-10t + 25) dt$$

$$= \frac{-10t^2}{2} + 25t + C$$

$$= -5t^2 + 25t + C$$

$$\text{height} = 0 \text{ at } t = 0$$

$$0 = -5(0)^2 + 25(0) + C \Rightarrow C = 0.$$

$$\therefore s = -5t^2 + 25t.$$

$$(iii) \quad \text{Max height} \Rightarrow \frac{ds}{dt} = 0. \Rightarrow v = 0.$$

$$-10t + 25 = 0$$

$$25 = 10t$$

$$2.5 = t.$$

$$(iv) \quad \text{height at } t = 2.5.$$

$$-5(2.5)^2 + 25(2.5) = \frac{125}{4} = 3\frac{1}{4} \text{ m.}$$

(7)

time to return to height = 0.

$$-5t^2 + 25t = 0$$

$$-5t(t - 5) = 0$$

$$\Rightarrow -5t = 0 \quad t - 5 = 0$$

$$t = 0$$

$$t = 5$$

\Rightarrow It takes 5 sec.

Q6 $\frac{dN}{dt} = 4e^t + 10$ (80)

(i) $N = \int (4e^t + 10) dt$
 $= 4e^t + 10t + C$

(ii) $N = 16$ at $t = 0$
 $10 = 4e^0 + 10(0) + C$
 $10 = 4 + C$
 $6 = C$

$\therefore N = 4e^t + 10t + 6$

at $t = 5$

$N = 4e^5 + 10(5) + 6$
 $= 649.65 \approx 650$ to nearest whole N°

(iii) $\int (x^2 + 3x - 5) dx = \frac{x^3}{3} + \frac{3x^2}{2} - 5x$

$0 = \frac{x^3}{3} + \frac{3x^2}{2} - 5x$

$= \left[\frac{(4)^3}{3} + \frac{3(4)^2}{2} - 5(4) \right] - \left[\frac{(2)^3}{3} + \frac{3(2)^2}{2} - 5(2) \right]$

$= \frac{76}{3} - \frac{20}{3} = \frac{56}{3} = 18\frac{2}{3}$

sewa

Q8

$$\frac{dh}{dt} = 2t - 3 \quad (v)$$

$$\begin{aligned} \text{height} &= \int (2t - 3) dt \\ &= \frac{2t^2}{2} - 3t + C \\ &= t^2 - 3t + C \quad (i) \end{aligned}$$

$$h = 4 \text{ at } t = 0 \text{ (start)}$$

$$4 = (0)^2 - 3(0) + C \Rightarrow C = 4$$

$$\therefore h = t^2 - 3t + 4.$$

$$(ii) \text{ height} = 36 \text{ cm} \Rightarrow 32 \text{ cm to fill.}$$

$$32 = t^2 - 3t + 4$$

$$t^2 - 3t - 28 = 0$$

$$(t - 7)(t + 4) = 0$$

$$t = 7 \quad t = -4 \text{ not valid.}$$

$$\Rightarrow t = 7 \text{ sec}$$